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I. MULTIPLE-CHOICE QUESTIONS (8 points)

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question 1: A. typical
B. carry
C. identify
D. penalty
Question 2: A. supports
B. leaders
C. victims
D. learners
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: A. behave
B. suprise
C. event
D. damage

Question  4: A. diplomacy
B. information
C. informative
D. economy

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 5:  She did her test careful last week.

A. did
B. test
C. careful
D. last week

Question 6:  I saw the men, the women and the cattle which went to the field.

A. the women
B. the cattle
C. went to
D. which

Question 7:  If we will reduce the speed of population growth, there will be less pressure on the earth.

A. on
B. less
C. will reduce
D. population growth

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 8:  There is __________ milk in the glass.

A. any
B. some
C. much
D. many

Question 9:  My family consist _____ five people: my parents, my two younger brothers and I.

A. on
B. of
C. over
D. up

Question 10:  It’s often difficult for a young child ______ clothes.

A. wearing
B. putting on
C. put on
D. to wear

Question 11:  She asked me ________ speak French.

A. if I can
B. I can
C. if I could
D. I could

Question 12:  _______ I heard the telephone ring, I didn’t answer it.

A. Because
B. Only if
C. Even though
D. Provided that

Question 13:  We _____ touch since we _____ school three years ago.

A. have lost/ leaves
B. lost/ have left
C. have lost/ left
D. were losing/ had left

Question 14:  He was the only _______ that was offered the job.

A. apply
B. application
C. applying
D. applicant

Question 15:  You never tell anyone your password,___________?

A. didn’t you
B. don’t you
C. did you
D. do you

Question 16:  My grandmother used to ____________ us folktales.

A. telling
B. tells
C. tell
D. be told

Mark the lelter A, B, C, or D on your answer sheet to indicate the most suilable response to complete each of the following exchanges.

Question 17:  - “Would you like to come to dinner next Friday?” - “_________”

A. Unfortunately not.
   B. Certainly not.
C. I’m afraid, I can’t.
D. I hope  not.

Question 18:  “Would you like anything else?”     “​​_____________”

A. That’s all. Thank you
B. Yes, I would

C. Two, please
D. Yes, I like everything

Mark the letler A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in

meaning to the underlined word(s) in each of the following questions,

Question 19:  If she was late, she would be rushing.
A. flying         
B. hurrying            
C. speeding
D. running        

Question 20:  The 1923 earthquake in Japan killed about 200,000 people and left countless wounded and homeless.

A. imprisoned
B. injured
C. enriched
D. killed

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in

meaning to the underlined word(s) in each of the following questions.

Question 21:  Our children must attend some acceptable school during the years of compulsory education.

A. advisory
B. inspirational
C. commercial
D. voluntary

Question 22:  She failed to get into medical university

A. satisfation
B. qualified             
C. didn’t succeed          
D. passed          

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks

Earthquake are the most destructive natural disasters. They usually hit without any (23)_________and result in a great loss of life and an enormous demolition of buildings. Additionally, they may cause devastating landslides or (24)_________gigantic tidal waves which, in fact, are colossal walls of water smashing into seashores with such force that they are capable of destroying coastal cities. (25)_________, the vast majority of fatalities and serious injuries come about when buildings collapse. 

Most frequently, the earthquake lasts 30 to 60 seconds, so usually there is no time to escape once the shaking starts. The savage (26)_________of an earthquake trigger off a complex chain reaction in the building’s structure when it is shaken, lifted, pushed or pulled. A building’s height, its shape and construction materials are the most (27)_________factors deciding about the survival and collapse of the structure and, consequently, about the life or death of its inhabitants.
Question 23: A. caution
B. advice
C. notice
D. warning

Question 24: A. generate
B. create
C. construct
D. make

Question 25: A. Since
B. However
C. Nevertheless
D. Although
Question 26: A. results
B. forces
C. waves
D. services
Question 27: A. trivial            B. significant            C. positive                D. considerate


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.

People invent things to enhance their lives. Today, inventions are mostly improvements of previous inventions. With technology, inventions are taking a shorter and shorter time to complete.


One such invention is the camera. The time taken to invent the camera in the sixteenth century was prolonged due to the lack of technology and scientific knowledge. When inventors first tried to take a photograph in 1558, the image could not stay on the paper permanently. It was only in 1837 that inventors managed to produce pictures that did not fade away.


With the invention of the camera, further improvements were made and the first underwater camera was invented in 1856. It was placed in a tightly sealed container. However, when the contraption was underwater, the container broke before many pictures were taken. It was only in the 1980s that a camera was made to be able to go deep underwater without being damaged. Less than twenty years later, technology allowed underwater cameras to take photographs in color and to go even deeper into the water. The cameras even looked like a fish.


With better technology, an invention will never stay stagnant. People will be relentless in their efforts at making improvements to an invention.

Question 28:  The first underwater camera was_________.

A. made after one improvement
B. put in a container

C. stuck to a box
D. covered with a seal

Question 29:  How was the underwater camera in the 1980s different from the previous?

A. It took color pictures without going into water.

B. It could swim like a fish.

C. It could take color photos and go deeper.
D. It had the shape of fish.

Question 30:  How are inventions of today different from those in the past?

A. They gradually enrich people’s lives.
B. They have intention of being larger.

C. They are effectively used.
D. They need less time to complete.

Question 31:  How many years later did it take the inventors to produce the first underwater camera after the first camera?

A. 389 years
B. 279 years
C. 321 years
D. 298 years

Question 32:  What happened to the image on the photograph of the first camera?

A. The image was different after a time period.

B. The image could not remain on the paper for long.

C. The image disappeared.

D. The color of image did not stay a long time.

II. WRITING. ( 2.0 ms)

Choose the best answer so that it has a similar meaning to the first one.

Question 33: He started learning French six years ago.

A. He has learned French for six years.

B. It was six years ago did he start learning French.

C. He hasn't learnt French for six years.

D. It is six years since he has learnt French.

Question 34:  People believed he won a lot of money on the lottery.

A. He is believed that he won a lot of money on the lottery.

B. He won a lot of money on the lottery, it is believed.

C. He is believed to have won a lot of money on the lottery.

D. He was believed to win a lot of money on the lottery.

Question 35:  "Why don't you get your hair cut, Gavin?" said Adam.

A. Adam advised Gavin to cut his hair.

B. Gavin was suggested to have a haircut.

C. It was suggestible that Adam get Gavin's haircut.

D. Adam suggested that Gavin should have his haircut.

Question 36: Even though it was raining heavily, the explorers decided to continue their journey.

A .It rained so heavily that the explorers could not continue their journey.

B. The explorers put off their journey due to the heavy rain.

C. The heavy rain could not prevent the explorers from continuing their journey.

D. If it had rained heavily, the explorers would not have continued their journey.

Question 37: He cannot afford a new computer.

A. The new computer is so expensive that he cannot buy it.

B. Therefore, he would buy a new computer.

C. So, he would buy a new computer.

D. The new computer is so expensive but he can buy it.

Question 38: Although his legs were broken, he managed to get out of the car before it exploded.

A. Despite his legs to be broken, he managed to get out of the car before it exploded.

B. Despite his broken legs, he was able to get out of the car before exploding.

C. Despite his legs were broken, he managed to get out of the car before it exploded.

D. Despite his broken legs, he was able to get out of the car before it exploded.

Question 39: I don’t have enough money with me now; otherwise I would buy that coat.

A. If I didn"t have enough money with me now, I would buy that coat.

B. If I had enough money with me now, I would buy that coat.

C. If I had enough money with me now, I wouldn"t buy that coat.

If I didn"t have enough money now, I wouldn"t buy that coat

Question 40: I don’t find it difficult to get up early in the morning.

A. I am used to get up early in the morning.

B. I am used to finding it difficult to get up early in the morning.

C. I used to to get up early in the morning.

D. I am used to getting up early in the morning.

----------- THE END ----------
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